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(BASED ON SCHOOL BOOK)
Switzerland is an example of
a. Aristocracy b. Theocracy
c. Direct Democracy d. Indirect Democracy
Falll_FTeoTh| &5G @ IBSHISHBHTLL TG
a. 2 _ulirglouim’ & b. was@mwrTseie o
c. Gmyg dhsem d. wewmps dHHeNTL S

Consider the following Statements and choose correct option
I. In India, Prime Minister is Head of State.

II. Government refers to executive functions of state.

a. I only is true b. II only is true

c. Both I and II are true d. None is correct

elieumd gappiseiev Fllwmerensd CaHiboSH 6.

L. BhHuwreled, 1Is506) SIS SHEMeaITTEUTT

[I. Spsmsd aaiLE DFFler CFUID HIMBLI LGwNHMmeT 2 6ITeNL & UIHTEGHID
a.l ' @G af b.II w' @G &M
c. I wmmpp 1T & d. eme|evensn

Consider the following statements.

1. VVPAT was made indispensable by Supreme Court Judgement in
Subramanya Swamy vs Election Commission of India case.

2. VVPAT was introduced all over country in sixteenth Lok Sabha elections

(2014)
Correct statements are
a. One only b. Two only
c. Both One and Two d. None of the above

LNeITeU(HLD SnBBISENeNS H(HFHIH:

1. atdgyweniw geumd 1T @haHu CxTmHed emeniuwl aupsdHled VVPAT siesi
SHTHS (PYUITH DIDFIOTH o FFHAHIoB HTled o mig CFuiwliul (Heiengl.

2. 16 ougl ndsemaldh Bpitmevdmer (2014) 0 VVPAT geng @bswm

(PSS IBPSUILGSHSLILILL S|
gflwmer SnMBmIH6T6M60T

a.1 w @Gw b.2 w’ @Gw
c.1 wBmib 2 wl Hd d. GuBswIL aHia|blevemev
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Consider the following statements.
1. Election commission can register and deregister a political party.
2. Party recognised as a state party in four states is recognised as a national

Party.
Correct statements are
a. One only b. Two only
c. Both One and Two d. None of the above

LNeiTeU(HLD SnBBISENeNS H(HHIS.

. @ opdfwed sldwmaigd CHTH MMIWLSHT0 UHQ| (8)) HhHSHD
GauIwIiILL 60MLD.

2. 4 wiplevmiseiled OBV SLFAWTH DMSSTID OLUBBIGTEN @ SL FWITeig
Cxrflwsd s Fwnes mSHNHHILGLD

a. 1w B b. 2 w1 B C. @yewi(BLd d. gsedevensv

Consider following statement

Assertion (A): Leader of opposition plays a significant role to play in Indian
Parliamentary System.

Reason (R): He is Chairman of Public Accounts Committee, selects
Chairman of Central Vigilance Commission, Information Commission.

a. (A) alone is correct and (R) is incorrect.

b. (A) and (R) are correct and (R) is correct explanation of (A).

c. (A) and (R) are in correct

d. (A) and (R) are correct but (R) is not correct explanation.

L&eubd FnBBISMmeTd H(HHIH:

B (A) :  @bHwl  ummEpsB (wepuled  GHTEBL S  Hemeveu
USNWITOISH (WSBHWLILGIEG IS SHBSI.

as1yeoid (R): @euT QUTHIS Saidb@GHsd Gl HmeLaIITHAD HHul alllfliliL]
LTI  OBEILD  HHU  HBEUD EMEILSHN  HMevalTHmend CaHiTey
QFuILITTHAD 2 6ITeTIT.

a. (A) wiew &M, (R) seum

b. (A) wppid (R) &M wopw (R) eewg (A) & sfwrer alendsom@Lb

c. (A) wspd (R) seum

d. (A) wppd (R) s suemed (R) ereiiug gflwmer alendsiosen

Choose correct statements
L First general elections to Loksabha was held between 1950 and 1951.
II. 26t January is celebrated as Both voters day and Republic day in

country.
III.  India holds indirect elections also.
a. I and II are correct b. Il and III are correct
c. IT only d. Il only

gllwren sBoisenen CaiTey OFUlIs.
L. 1950 ommidb 1951 &@E @Lulled WHEHeMmaIDHE (WHeOTalHl OLITHIS
BaxThHe0&6i  HemL GLBMeT.
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II.

II1.

BT Iged Meraufl 26 SIG GQUWITdH Helld OBBID UTHSHTENT  HIOTHD
OamewtL T LGS BS).

BHHWT 1emB(PHSH BHTHOHMMUID HL HHIHBS.

a.l wpp II Fiwreenel b. II wpmpd I sflwmereneu
c. II @b d. I w @b

Which of the following are characteristics of Indian democracy?

L. Universal Adult Franchise.

II.  People Exercise Decision making power directly.
III. ~ Absence of Discrimination on certain grounds.
IV. Largest democratic country in the world

a. I only b. L, I1I, IV only

c. Il and III only d. All the above

LeiTau(HaleTaIBmIeT SbH&HUl MeTBTLSSHH 6 DIDFRIH6T 6T16nel?
L. ouwigl aubBsiT eumdh@iflemio

II. wéser GHIQUITE (PIYLMIBHGID DHBTTHHED 2 666t
[I. fev @I’ L eleustrmiseflsd LTGUTIQETENID K606 HBS.
IV. 2 608180Cw 10aiuflw wossenm & Hrlh

a.l o’ B b. LI, IV w1 @i

c. II wmgip I wr G d. omersHHib

Consider the following statements and choose correct ones.

L Democracy is derived from Greek words DEMOS meaning people and
CRATIA meaning power.

II.  Democracy means head of state is elected.

III.  Republic was coined in Rome, From Latin word ‘res publica’ meaning
public matter.

IV. Republic denotes doctrine of popular sovereignty where people
posses decision making power.

a. I and Il only b. Il and IV only

c.Iand III only d. Il and IV only

Neitau(pd ammideriled Fflwnearensdd CHTHoHM:

L.

II.

II.

IV.

DEMOS - wéser woppid CRATIA — oi@smyb elenl QUITHEHML U
EYE) X QUMTSHemSHH 61 60(HHS) D& HENTL_ &) 6TE0ILD QFTELEOTETSHI
GaHOHBHHSBLILIL L F|.

&HHeNTLFulled SIFdlenr HemeveugmesreuT GHiThoO\SHHSHSLILIBSIMITT.

Glwirs  egmIb  GFmevevmergl Grmbd BT IgEd augaImISSILIT L G 'Res
Publica" eignib evdhdesr QombF QFmevedest GUIT(HeTTaTE GLITEHI eleudTyiD
6160TLISTGHLD.

GYWIE 6L SHSEMLLD © WIFSHSTI(LP6Ten DIHOLILTGHD @mIEG LSBT
WWRYOBEGID DHBTTHH M OFUIGOLIHSHSHIH SIMBEOIT.
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a.l wppd II w' @b b. Il wpmid IV o1 Bid
cl wmmd I 1w G d. Il w@mid IV o1 Gid

Consider the following statements

Assertion (A): India has indirect democracy.

Reason (R): People exercise decision making power indirectly through

elected representatives.

a. (A) alone is correct (R) is incorrect.

b. (A) and (R) are correct and (R) is correct explanation of (A)

c. (A) and (R) are incorrect

d. (A) and (R) are correct and (R) is not correct explanation of (A)

LlaTeupld snBpisenend &(hHSHIsb.

aBE (A) : @bHwraled MBS WoHHEMTL S Hleva s mal

amyenid (R): 1wds6ell SmseT DHBMTHMS LLOBPSLOTE CHTHOBBHSLILIL L
LT SHHSHH6IT elpevld  OFUIOLIB SIS ATB60TT.

a. (A) wipw &M, (R) seup

b. (A) wspd (R) &M@, (R) eeiug (A)er gflwmer allenssom@Ld

c. (A) wigid (R) seug

d. (A) wspd (R) &f wspd (R) eaewg (A sfwmer allemdasos0s0

The parliament house in India was designed by

a. Le Corbusier and Albert Mayer

b. Edwin Lutyens and Herbert Baker

c. Matthew Nowicki and Thomas Munro

d. Ludwig Mies and Frank Wright.

@bhHW UTTTEHLOGTHE DIENEUWITETH WTJTT6D 6UIQ6UeDLDESBLILIL L S).
a. &5 &mTuedwi™ BoId LeoLly. G

b. e aler g lpuieiterd WwBEID OamTum’ GudbasT

C. wrHuen Gpmeald B®ID ST aTEBT

d. e els erd wBmId LgmHis eyl

Consider the following statements and choose correct options.

L Members of Loksabha are indirectly elected.

II.  Members of Rajyasabha are elected by Electoral College consisting
elected members of legislative assemblies of states.

a. I only is correct b. I only

c. BothIand II d. None of the above
Neitau(pld Sammideriled Fllwnearensdsd CHHOHMH:
1. éHHenenal 2 BILNITHNT LOeDBPHITHS CHTHOHHHBLI LB 6IIMm6TT.
2. WTPHeV FLLWaIBEISTeT CHTHOHBHSSILLL o mIilanmser SiLmsw Cxhiteyd
G cpevld Jregwl Fevll 2 miliilerTaeT GCoHiTh0l%H B &S UILIHES GTB6IT.
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a.lw @G &M b. IT o @B
c. Lioppnd II @yewi®Bid d. egededensv

Kudavolai system was followed by

a. Cheras b. Cholas c. Pandyas d. Pallavas
&L Goureney (LpemBULITEIZ] S0 LNesTUMBBLILL L G
a. Gayyiraeit b. Gsmpiraseir C. LITGRNQUITEGIT d. uebeveuTEeIT

In democracy final authority rests with

a. Parliament b. People

c. Council of ministers d. President
&HHeNT.Fuilled BmIFH DIHSTILOTEIH BL1b 2 eieng)l
a. UMJT@MhLOGSTBLD b. wéaser

C. DIMDFFTHEMGT Sienel d. memgdug)

Consider the following

Assertion (A) : India has Parliamentary form of democracy.

Reason (R) : Indian Parliament comprise two houses.

a. Both (A) and (R) are true and (R) explains (A)

b. Both (A) and (R) are true and (R) does not explain (A)

c. (A)istrue (R) is false

d. (A) is false and (R) is true

LeiTeumeueieumens LU1H

By (A) : @hHwmaled LUTTTEBHOSB DHHEMTL & (PEnBUITEISH [H606a|ESIMS.
sryenrd (R): @pbaul LMyTEmpoaIBIOTEIHI B4 DIMaIHmeNd ClBTeRI[H6ITeNG).
a. (A) wppd (R) g Gowaid (R) ereiiug (A) —eir allendbaLon@Ld

b. (A) wBpid (R) sfwnerensy Cuoaid (R) eraiug (A)er allendbaiosen

c. (A)afl R) saupl

d. (A) seum wpmpw (R) sfwurers

Consider the following statements.

1. Meaning of Franchise denotes right to elect.

2. Universal adult franchise creates legal equality.
Choose wrong statements.

a. One only b. Two only

c. Both One and Two d. None of the above
LNeiTeU(HLD SnBBISEN6NS H(HHIS.

1. aursGflew ez CsHitey QUG o femwemuid GNl&H B
2. awgl aubBaHTT aumd@fend FUL FHIHMUHMSD 2 (HoUTHGHHMBSH
SHoUBTe FmBuIHenend GCHiTs.
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a. 1 w’ @G b. 2 wl Gw
c. 1 oBpid 2 Byewi(h d. eme|fevensn

The President of India can nominate.

1. Two Anglo Indian to Lok Sabha.

2. Twelve Anglo Indians to Lok Sabha.

3. Twelve Anglo Indians to Rajyasabha.

4. Twelve members to Rajyasabha.

Choose correct statements.

a. One only b. Three and Four only
c. One and Two only d. One and Four only
OhHW QemHuBHuwimed BudHSLILBHMS

1. 1&Henenaldh@ 2 SRISHC0T EHIHUITHEN

2. 1D&BeNTeMaUSHE 12 mISIGeom @b UITSH6N

3. gTRw FeusG 12 mSGeor BhSWITHen

4. JTRW FLHE 12 2 mIelTsHel

a.1 @ b.3 wBmpib 4 w G
c.1 wBmb 2 w (B d.1 wBmib 4 wL G0

is one of five basic principles of democracy in India.

a. Communism b. Communalism

c. Secularism d. Illiteracy

OhHW WEBTULSHIET 5 Dl & BTeTendHeilled 6B
a. QuUTHIe ML LD b. auglyamsId

C. WaFFTTLI60TenLD d. epssniaieenio

Electoral college of President consists of

L. elected members of both houses of Parliament

II.  elected members of state legislative assemblies and union territories.
ITII. nominated members of both houses of Parliament.

IV. Nominated members of state legislative assemblies and union

territories.
a. I and IIT only b.land IIonly c. LI, Illonly d.All the above
GLWISS Hmevauam]d BFTe CFUILD eUTSHSTENT G (LYUTEIH
L. uTgTEbOB B Siemeuuler Caitey OFuwwiu’ L o minilernrsel
II.  wmpev glLwemd (10) welwer LyGsamiseier GxiTey Gauiwiul L
o LI NeuTHeiT

III. ummenpwas Bmm Smeluiler muiwer o BIilerTaer

IV. wmhev gl Lwamd (10) ugeiwer LgGshgmiseier muloer o milniermsel
a. lwopmpwp III wiGd b, Twpgid 1T o G

c. I II, IIT o (pb d. omearshHibd

Consider the following statements
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Assertion (A) : Pressure groups originated in USA and are different from

Political Parties.

Reason (R) : They do not try to capture political power or contest election.

a. Both (A) and (R) are true and R is correct explanation

b. Both (A) and (R) are true and R is not correct explanation

c. Aistrue, R is false.

d. A is false, R is true.

LNeiTeU(HLD SnBBISENeNS H(HHIS.

By (A): opdfwed s dsalledmbs  DWHHE G1pHH6T  (SGINSETATE
Gapmesiweney) GCeumiLI(h sl esTmsedt.

snyenid (R): oimeusel oduisd SiPsmsmss aaliuBpCaur (o) BxTsHeds

Gumigui Geur  (LpemeaT6r F5606M60L.

a. (A) wppid (R) sf Cowed (R) ereiiuigy Filwmer aflendasomgLd

b. (A) wBpd (R) sfl Guwed (R) ereiiugy Fflwmer ailendaiosdsn

c. (A sfl (R) seupmerg

d. (A) seum, (R) sflwmerg

Election Commission is a

I. Independent Body II. Permanent Body

I1I. Statutory Body IV. Constitutional Body

Choose correct statement

a.lonly b.ITandonly c.I Il and III only d. I, IIand IV only

BHTHeL HLEMEMTUILOTEIHI 6(F

[. &5baT SIEmDLUTEGLD II. Weweouwimesr SieMLOLILITELD

III. s’ Lyfen gemwriungd IV, opduevenioliier Liguime Sienolilm@Lb
a. Lo’ (B b. 1 wpmid I G

c. I, IT ompud IIT wi Bid d.L II wpgw IV w @b

Which is not function of political party?
a. Parties conduct election.

b. Parties put forward policies

c. Parties contest election

d. Parties shape public opinion

OIFwed s Fulledr LiewluweLeoTHSH 61517

a. s Fa6e BCHTHMEV HL SHSHIS GTB6M.

b. sl dl@e CamelTendDHem6r  (LPEITen6HE 6STI36.

Cc. sl a6 BaiTmHevled GuTL 1guiBhalesent.

d. sldlaet QUTEHIS HHGHH M 6UIQEUMLDSHE GTBEIT.

State parties are also known as
a. Indian parties b. Provincial Parties
c. Regional Parties d. National Parties

APPOLD STUDY CENTRE PH: D44-24333436, 42867335, 9840226187
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LOTHI6VS &L F el eTmID  SIMBIWILILBES T3 60T.
a. @phHw s Hser b. wrsmewt &L g6l
c. gmhAwr &L dbelt d. Gxw &I Hser

What are merits of direct elections.

a. Itis less expensive

b. It is more suited to larger countries.

c. It ensures lower violence and corruption.

d. It makes representative more accountable to people.

Gwrgs CaTeevsemer FMLILIGE6T wimeneu?

Bmel GHMBHS 6lFeve ML ULIena

Wasloufw BTHHEHDHE LOS6D JHLENL U6

GOBHSH DIETATN6VTET AUCIT(LPENBHET LOBBILD 26TPEOSH6IT

. ID&BEHHG DIHS GUTBILILDLMWD uUTUIHS LITHHHHmeN aUpmIGBement (of)
W&HBEHHEG Wasab gFflwmer Senaleomer LIFHBHSN6N  aULDEIG) BT

a0 o

Which of the following is not one of three components of political party?
a. Leader b. Active Member

c. Follower d. Electoral Funding

Letau(heoteuBmieT SIFFluied s Fulledt 3 FmmISEHeT QETBI DIVEVTHH! 61517

a. HEMELAIT b. GFuied 2 _minieo

C. QFHmeuTL T d. Gximed HFH cuenBMID

Match the following

A. Britain 1. Parliament

B. Germany 2. Knesset

C. Israel 3. Diet

D. Japan 4. Bundes tag
A B C D

a. 1 2 3 4

b. 1 3 2 4

C. 1 4 2 3

d. 1 4 3 2

QUITHSHHIH

A, I Lot 1. unredOLesT

B. Ggimioen 2. Oxs0erenL

C. 8660 3. Lwt

D. elwmes 4. UpBOHEOLTS
A B C D

a. 1 2 3 4

b. 1 3 2 4

C. 1 4 2 3

d. 1 4 3 2

APPOLD STUDY CENTRE PH: D44-24333436, 42867335, 9840226187
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Consider the following statements

L. The term ‘republic” was first coined in 500 BCE in Rome

I.  Itis derived from a Latin word ‘res publica’

Choose the correct statements

a. I only b. II only c. BothTand II d. None of these

gflwrenr sBoIBemen CxHiTey OCFUISH

L. QUT.&L.(P.500810 SewiB  GCrmb  BTLIYEd (PHT  (PHeVled  ‘GQUITs:
(Republic) eignib Q&med 6uIQeUMDESLILL L G|

II. @®&0gmed ‘respublica’ eigmid euHFHesT QOTHF CQFTeLedled(HHSI CLUBLILILL F.

a.l ' @w b.II wl Gw

c. wmmp 1T Syewi®id d. egledeoamev

Which of the following is not a federal feature of the Indian Constitution?

a. Single Constitution b. Written Constitution

c. Independent judiciary d. Bicameralism

LTedTau(hHeueTaUBmIeT 6% bHFH Ul DITFUIGUMIOLILNGT Snl LT & (LpehB DIDFLD DI606V?
a. @mems FFuievenioriL] b. s’ L dfluteventoli]

C. SFHITa HHSHBHIMB d. Grewih Siwer o1 4

Unitary form of government is in

a. US.A b. Canada c. Brazil  d. England
b BTLIQ6D @Benul L & (B DTS 2 6iTeng)?
a. MEHW OWNHs HTHBHENT b. sem c. UGrFed d. Bmdevnhal

Which of the following is not type of urban local body?

a. Town panchayat b. zila parishad

c. municipality d. corporation

LeleumerteuBmIen HaJ 2 6iTenml & SenOLILNeT 6UemEBHUIEOeOTHSI 61517
a. Y LehFTWHSI b. 2feveor ufags

C. B&JT.& d. wrpsymH

Which of following is not a characteristic feature of parliamentary form of
government?

a. Harmony Between Legislature and Executive

b. Responsible Government

c. Stable Government

d. Majority Party Rule

LTedT6u(HeUGTOUMMIGT LITJTEHLOGIB (LPeDB DITFTRISSHH 6 DIDFLOOTHSHI 6157
a. FLLSHIMDB LOBBID CFWeTessd SHiems el Guiwimer E)emnTs b anev

b. Qum@ItiLTeT SyFTHIGBLD

C. FlemeowITen SIFFTHISLD

d. Qugpburetentd &L fuller sy

APPOLD STUDY CENTRE PH: D44-24333436, 42867335, 9840226187
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Choose the incorrect pair

1. Primary Consumers - Zebra

2. Secondary consumers - crocodile

3. Tertiary consumers - owl

4. Autotrophs - Bacteria

a.1,2 b.3, 4 c. 2 only d. 4 only

SHOUBTET EeneuTenUls &HIT6IISH

1. Wpaeoplenev HISTCTT - eufld@ ey
2. @yewiLmbblensy HISTEMTT - (LpHenev
3. cpeIBTDBHleney HISTCTT - SuHenS
4. F@animy e’ Le uifl — urdleflwr

a.1,2 b.3,4 Cc.2 wl (B d. 4 w @G

An ecological region that has lost more than of its original habitat
is considered a

a. 70%, hotspot b. 70%, Biosphere reserve

c. 60%, hotspot d. 60%, Biosphere reserve

RH  Gellwed LITCHFHH 6L Gueurs  gflerd agwioTer euTDAIL H0S

BbaIaGGLWTEmed el D (HauaiddHled GsmeTeniLL Geaiemrgul)
S5 BHSUILBS DS

a. 70%, euenemowmisenmes (Hotspot) b.70%, o ultéGsmen sTlisD

c. 60%, esuenemwwmsenma (Hotspot) d. 60%, o ulitsGsmen &iLsLD
Tropical Savanna biomes are found between latitudes.

a. 10° to 20° E and W b.10° to 20° N and S

c.20°to 30° N and S d. 20° to 30° E and W

Geaulil  1D6wIL 6L Feumedim LieeUuliTd OFHmEHa) DI FHIBEHHG SenL Cul
ST LGS MBS

a. 10° to 20° ds@ wimnd Gwojg — b. 10° to 20° e wBxpbd Cges

c. 20° to 30° e BmID G&est d. 20° to 30° s wBpId GCoBE

Which of the following statements is /are correct about desert biomes?

1. Found on the western margins of the continents between 20° and 30° N
and S latitudes.

2. The annual rainfall is less than 50 cm in these regions.

3. These regions do not possess any vegetation but have special vegetation
type called Xerophytes.

a.1,2 b.1,3 c. 2 only d. All of these

LITeneuauadl Lisbeuuitd OHT&Hd uBnfiw gflwmer sEBml / FmBoiseer Hewi_fs

1. @UueouiTHosTGd 20° pdHed  30° e, et I FHhIGEHHIemL Gul
STewILILI[BH & 6313601

2. @mG oewih ggmam wenplumfley 50 CF.0é6@GWD GHmmauTs STl ILBHBSH.

APPOLD STUDY CENTRE PH: D44-24333436, 42867335, 9840226187
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3. @nGH STauTmser feTe euenTslaper. SmUlaib BmGd STenilupBLD
SHANHBHIAUD AUTUIHS SHTEUTEISET LITED6VI6HBHTEUTHISENT 61607 ILIHE6OT360T.

a. 1, 2 b. 1, 3 C. 2 L (b d. @mal DBIHHID

Match the following

A. Prairies 1. Eurasia

B. Steppes 2. South Africa

C. Pampas 3. New Zealand

D. Veld 4. North America

E. Centerburg 5. Argentina and Uruguay
A B C D E

a 4 1 5 3 2

b 1 2 3 4 5

C 5 3 4 1 2

d 4 1 5 2 3

QUTHSHHIB

A. LGgu 1. wGragwim

B. QL 2. Oxpestermiifdsam

C. umbumen 3. pudleonbg)

D. GeusbdL_ 4. el SIOMN&bsHT

E. Gameiriuid 5. 9ITelxmemngem LMWL 2 (H&HG6
A B C D E

a. 4 1 5 3 2

b. 1 2 3 4 5

C. 5 3 4 1 2

d 4 1 5 2 3

Consider the following

Assertion (A): Heterotrophs do not produce their own food.

Reason (R): They depend on autotrophs for their nourishment

a. Both assertion (A) and reason(R) are true; R explains A

b. Both assertion(A) and reason(R) are true; R does not explain A

c. Aistrue; R is false

d. Both A and R are false

LTeiTau(hHeueTeUBensB LIS

aBEl (A): Upganiy o't o ulflser shiser o aemel HTHsCsm HuThHsis
OB TeiTeNT G

smyewid (R): oo’ | FFsHBars emel o BUSHWTETTEMNTSE FTHH E(HHGLD
MWl BXID SHTJenid @Tewihld &M, STFewild Famens alensEGH B

MWl BBID HTJenid @TewiBld &M, HTJewid FnBenm alendsale0emev
Fmm i, STIeRID SHaum

. SGaBUl BDID HTJeID @Jeni(B Heuy

a0 oP
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Match the following

A. World Wild Life Day 1. March 3
B. International Day of Forest 2. March 21
C. World Water Day 3. March 22
D. Earth Day 4. April 22
E. World Environment Day 5.June 5

A B C D E
a. 1 3 4 5 2
b. 1 2 3 4 5
C. 5 4 3 2 1
d 4 3 2 1 5
QUTHSHHIH
A. 2 s auaialevmig D 1. & 3
B. siteuGshs &1(hsen Hebd 2. & 21
C. 2 0 BT FHed 3. g 22
D. gyl gHewmbd 4. gligev 22
E. 2 v aBmisF@pe0 SHebd 5. 6T 5

A B C D E

a. 1 3 4 5 2

b. 1 2 3 4 5

c. 5 4 3 2 1

d 4 3 2 1 5
is a system of interlocking and inderdependent food chains.

a. Food chain b. Food web

c. Trophic level d. Ecosystem

o _queYF FRIBHIHT  SIBlmaIOWTEIR  FTThHS, LleDewidbalul L DDLU
aTTILBSBS

a. 2_eauie] FhidHel b. o _eawiey almev

C. QBM6L DL L LD d. FBBIFGIe0 SjenLoliL]

United Nations Conference on Environment and Development (UNCED)
was held in in 1992.

a. Rio de Janeiro b. Paris c. Geneva d. Stockholm
MeF U BTBHMNET SFMBIFGGH60 OBBID aleTEES  OTHTH 860 19928110
LI HewL GLBBGI.

a. MGwm 19 GmefGyr b, umfled c. Geefeur d. evLrsGammid

Choose the correct statements
1. Different countries of the world conduct census every 5 to 10 years as
recommended by the United Nations.
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2. The first known census was undertaken by the Babylonians in 3800 BC
(BCE).
3. InIndia, the first census was carried out in the year 1872.

a.1,2,3 b.2,3 c.1,4 d. None of these

gflwrenr FBoiBenet BCxiTd

1. maaw pTGseT gouuler ufibgienyuleiny o sodler LG  BHTHSH6T
@aloeum®m 5 9evevd 10 mIhBEHHE  QRUH(PDB  LDSHHTOIHTEND
Henib0BBLImL  BGLoBOsTeTd6sIment.

2. umiBeureled &lap (CuUT.SL.p) 380060 2 60 (LPH60  LOSHHETOHTNS
SILIOBBLIL BLHDHS).

3. @bHwmaled (1PpHe0  DHFHTOHTeND  HewibOdBUL  &H.10.1872810  i6emi(h
BLHSSI-

a.1,2,3 b.2,3 c.1,4 d. @meu ggidevensv

Which was the first country in the modern world to conduct a census?

a. Sweden b. France c. Denmarkd. Austria
BT 2 _60FH60 DHHTOHTEND HEWIHOBBLIML (PFHeO (pFH6eJe0 BLSHHW BTH 61HI7
a. FaiLei b. Uymesterd C. QL anomTd d. syerdr Mwim

The dominant explanation for black death is attributed to the outbreak of

a. Poli b. Chickenpox c. Malaria d. Plague
Neitau(pd 61bdH GBmul smILIE FT6| DIMPSSLILGBSHBSI?
a. GumeliBuim b. s Libewio . Gsorflwum d. 9Gens

Choose the correct statement

1. The World Population Day is observed on 11th July every year.

2. The United Nations Development Programme started celebrating this
event from the year 1991.

a. 1 only b. 2 only c.both1and 2 d. None of these

gllwmer FnBenm HewiLMBls

l. 2 608 WW&EFHTEOFHTNS  Heolld  HIBCHTHID  oremev  1lgd Gz
SIaIFNESILBH MBS

2. maFw Brhseller auenTédd H L el Dend 1991910 Lewih (LPFHev
CBTERILTY  UHIBH.

a. 1 w @b b. 2 @b C. 1 wimb 2 @yewGhd  d. @eneu

JHILOGLEMEL

Density of population refers to

a. Population Density = Total Population / Total land area

b. Population Density = Total land area / Total Population

c. Population Density = Total population x Total land area

d. Population Density = Total land area x Total population
DSHH6IT DILTHS 6Tl

a. HHET IILTHH = OCTHSH WEHETOHTMD / GIoTHd HeOrILITLIL]
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b. éseT QI THH = GQorshs Beorgin] / Orss 1DHHMOHTND
C. W&FH6T IILTHH = OTHS WHHTOGHTNS X OILOTHSH Hleol gl
d. wéseT SILTHH QrHs mHeolugliy X TS LEHTESHTmD

India has an official population policy implemented in

a. 1951 b. 1952 c. 1953 d. 1954

Bbhaul S|y &FeoT SIFHBMTTLILLTEULDT 6O LD BHETOSHTEND C®TeiTensd
BEOL (LPemBLLBSSLILL L. S601(H

a. 1951 b. 1952 c. 1953 d. 1954

Find out the incorrect pair

1. Primary activities - mining
2. Secondary activities - automobile manufacturing
3. Tertiary activities - banking
4. Quaternary activities - scientists and policy makers
5. Quinary activities - consultation
a.1,2,5 b.4,5c.3,5 d.1,3
SHAUBTET E)eN6ITenUISH SbITCIIH
1. (WFHeLPBmevd GCHTLHEOSH6T - SNBIGHMeT Goul 19 61(HHFH60
2. @rewiLmbbhlensvd OHTLHe0LSH6T - UTHA 2 _BUGHF CBHTIHBFTENE0HEN
3. PAIBTIDHENeVS OHTLEOSH6I - UMIPH6IT
4. BTAISTIDHIEN6VS OHTLH0BH6T - SIla1uied SISl EhTEH6IT LOBMILD
SITFTHIBHS 601
O®meiTendH6M60 (D196 6IBLILIGITSHEIT
5. MbHIHTDOHMVS CHTLH60H6T - GeuTFMEN  AULPHIEGHFH6D
a.1,2,5 b.4,5c.3,5 d.1,3

Choose the correct statements

1. Japan is in a very active seismic area and it has the densest seismic
network in the world.

2. Indonesia is in a very active seismic zone

a. 1 only b. 2 only c.bothland?2 d.none of these

gflwmen FnBoIBHeneT Hewil MBS

1. giumedm  (Weu D Hevbhdd UGHHuled SimwhEeTend. B& o 60aGeolu
e 9IFHd SILTHHWTer Hevphdd LIGDHBmensd OsTemi(BeTeng.

2. @bCaHMCaAlwT 9IfHs HevbBESL LIGHBmend BT (HeiTeng

a. 1 @ b. 2 w G c. 1 wBpd 2 d. @meu gaihlevenev

Which of the following statement has the Risk Reduction measures for
cyclone?

L. Ignore rumors, stay calm don’t be panic.

II. Keep your documents and valuables in water proof containers.

III.  Prepare an emergency kit’'s with essential items for survival

IV.  Switch on all the electrical appliance

a.l, IT and III are correct b.Iand II are correct c. Il and IV are correct
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d. IV only correct e. Answer not known

CaThsHslulBeiten  6hd eurdHwid yHuedet Gurgl Ueumm Geuewngul  SUImu

GaiTey GHmBLUIL HL 6VIQEHENHSH6N

. GaxmauwBs auFHHHBMTUID, LSBBHMSUD SHaNTHH60 DINOHHBTHHAILD

II. (psHuoTer SLEIETRIGEMETUD BBID 2 [ IDSEMETU|D  HewIemlT  LISHTSH
QUL &HHO USHSHTOTSH MEUSHB|LD

III. o ult eump SuFy 2 Hal CULLSSHMmS SWTTHenevuled emeudH(HHHALD

IV. sivaida 10agmy grgeamiseiler L0a@emenilienUu|D Hiewrgshs Gauewimib.

a. [, I wppid 1T sflwmerene b. I wpmib I sfwmerene

c. Il wpmip IV aflwrerene d. IV ol @ sflwrerg

e. alewL  OFMwalsvensn

49.  When you happen to see a fire break out, you will make a call to

a. 114 b. 112 c. 115 d. 118
SalusHdl gBUBLGUTEHI BHHIG6T SPHHBaITIQUI  6T6uT
a. 114 b. 112 c. 115 d. 118

50. Choose the correct statements
1. A tsunami is a series of enormous ocean waves caused by earthquakes,
underwater landslides, volcanic eruptions or asteroids.
2. Tsunamis can travel 700-800 km per hour, with waves 20-30 meter high.

a. 1 only b. 2 only c. both1 and 2 d. none of these

gflwmer gnBpisenen G

1. Hlevphdad, FLGSG Siguiled gBuBL Bevdafla), erflioeneo Geugliy WBBID
GDIRICaTeTH6T CUTSIBBBTEL gBUBLD OHTLT GLHERISL 60HaMT DlenevsEer
SO GLIFEneL& 61T LD.

2. oeilliBuyensowimerrgl 20-30 WULT 2 wrsHHed ewlld@  &omT 700 — 800
SHGeombl LT CousdHdled OFe060HEIQUISI

a. 1 @b b. 2 G c. 1 wBpd 2 d. @mear gaIhlevenev
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